NOME:

1. Calcolare

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

(1.1) D (32° 4 22® — 42% 4+ 5) = 152* + 62% — 8x
(1 2) D cos X _ sen’z + xsenz + cos? x + cosx _ xsenx + cosT + 1
’ r+senxr ) (z + senx)? (z + senx)?
6x + 5
1.3 D (1 322 +5x—-2) = ————
2z+3
2243 2e4z+5
1.4 D< ) S
(1.4) ¢ (4z + 5)2
—senxy
1.5 D (vcosx+2) = ——
(1.5) ( ) 2y/cosx + 2
Determinare
5
(2.1) /x4d:r3=x5+c
2
2.2 Vbrdr = 7\/5563/2 +ec
3
etgac ¢
(2.3) /cos%vdx:eg +c



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (2284 22° — 42% — 3) = 162" + 10z* — 1222

(1.2) D( cos T ) _ e"senw + xsent + e cosx +cosx (4 e¥)senx 4 (e” 4 1) cosx
' x+er (z + e®)? (z + ev)?
10z +-4
1.3 D (log (52?2 + 42— 7)) = —————
13) D (log (st 4o —7)) = L

2x—3

2¢-—3 236 S5x+4
1.4 D ( sw+4) ==
(1.4) ¢ (52 + 4)2

1 —2x
1.5 D =
(1.5) (log2+x2> (log2 + z2)?

2. Determinare

1
(2.1) /x dx =log |z| + ¢
1
(2.2) /sen(?x) dr = —% cos(7x) + ¢

(2.3) /exsen (€*) dx = —cos(e”) + ¢



NOME:

1.

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME:

Calcolare

MATRICOLA:

(1.1) D (32° —da* + 627 — 9) = 182° — 162> + 122 = 2z (92* — 822 + 6)

(z+logz)cosz — (L +1) senz

1'2 COS X — xrsenx — senr + & log:c COsS T

(1.2) D( senx >:
z + logx

(x + log x)?
(1.3) D (log (82 — 3z — 9)) = %
(1.4) D (e#) - (?554;;2
s p(550) =T

Determinare

(2.1) /cos:ndm =senx + ¢

1 1

cos
2. ——dx =
(2.3) / co? (senz) dzr = tg(senz) + ¢

z(z + log x)?



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (22° 4 32% — 22* — 2) = 182% + 182° — 82® = 223 (92° + 92? — 4)

(1.2) D( senx ) _ —e®senz —senx + e” cosx + xcosx  (z+e”)cosz — (e” 4 1) senx
' x+er (z + e®)? ( + e¥)?
14z 4 2
1.3 D (log (722 +22-5)) = -—5———
13) D (log (it +20-5)) = - X2

2x+4+3

2243 3ez+3
14) D ( s ) e
(1.4) c (z +3)2

(1.5)

D senx B (63"” + xQ) cosSzT — (363’” + x2) senx
e3® + x2 (€3 + 22)°

2. Determinare

(2.1) /senwdac: —cosT +c¢

(2.2) = —arcsen(2z) + ¢

1
——dx
/\/1—4:52 2

(2.3) / SNT Jx = —log | cosa| + ¢
COS T



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (32% — 2" +52% — 9) = 242" — 72 + 102 = z (242° — 72° 4 10)

(1.2) D e’ _e"(z +senz — cosw — 1)

’ r+senx ) (z + senx)?

122 — 4
1.3 D (1 24 = —
(1.3) (log (62 7 +7)) 622 —dx + 7
9621+3
2z+3 _ z—3

(1.4) D <e : ) =37

e.iL'

24 e*

(1.5) D ((72? + 2°) log(2 + 7)) = (14z + 5z*) log(2 + €®) + (72% + 2°)
2. Determinare

(2.1) /ewd:c—egﬁ—i-c

(2.2) /00521(33:) dx = étg(&v) +c

1
(2.3) / cos(log ) dx = sen(logz) + ¢
x



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1.

2.

Calcolare

(11) D (2°—22® — 42 +12) = 92% — 1627 — 1222 = 2 (92° — 162° — 12)

(1.2) D < e* ) _ e’ (x + senx + cosz — 1)

x + cosx (x + cos z)?

14z — 3
1.3 D (1 2 32x-12)= "
(1.3) (log (72 — 32 ) Tx? —3x — 12

3z42
3a+2 Te4s+5

(14) D <e4w+5> = Ty

(1.5) D <arctg (€I2 + x2)> = n j—x((j:::;))Q

Determinare

1
(2.1) / 22 dx = arctgx + ¢

2
(2.2) /\/@dx = §\/§x3/2 +c

(2.3) /senx (e°°%) dx = —€e“®* + ¢



NOME: COGNOME:
1. Calcolare
(1.1) D (22" — 62 —2* — 6) = 1425 — 302" —
(1.2) D e _ e’ (w2—x+xlogx—l)
x + logx x(x + log x)?
12z + 4
1.3 D (log (622 + 42 —5)) = —————
(1.3) (log (62% + 42 = 5)) = =15

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

43 = 223 (7303

3x—2

3z—2 292¢5z+4

1.4 L)(st) _ e
(1.4) ¢ (52 + 4)2

(1.5) D (=22 + 222 log ) = 4z logx
Determinare

(2.1) & = arcsenz + ¢

/ﬂ%zd
(2.2) / b@ﬂ

(2.3) / (ez)eﬁ dx = arctg(e”) + ¢

MATRICOLA:

— 15z — 2)



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (2a* — 5a® — 62 — 5) = 823 — 152% — 122 = x (82 — 15z — 12)

(1.2) D log = B zhsens _ (logx)(cosx + 1)  —z+xzlogx —senz + xlogx cosx
) r+senx ) (x + senx)? N x(x 4 senx)?
2z 4+ 15
1.3 D (1 24152 —-8)) = ——
(1.3) (log (#* + 152 = 8)) = 5=

3z42

3w42 23e5—14z
(14) D <e— 5 ) = 5y

earctgx

1. D arctgr) _
(15)  D(e) =

2. Determinare

1
(2.1) /Cos2xd;c—tgw+c
1
(2.2) /005(93:) dx = §sen(9a:) +c

(2.3) dx = log |arcsenz| + ¢

1
/ v/1 — x%arcsenz



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (52° — 5a® + 4% 4 8) = 302° — 25z* + 122? = z? (302® — 2522 + 12)

(1.2) D <arcsenaz> _ % —(e” + 12) arcsenr _ e®+/1 — x2arcsenz + \émarcsena: —z—€”
T+ e (z +e”) (z+e7)" V1 —a?

(1.3) D (log (222 + dz — 7)) = ij‘jg"_?

(14) D (e5H) = —(?i)’ii)z

(1.5) D (Veosz +2) = 2\/%

2. Determinare

5
(2.1) /x4dx:$5+c

(2.2) /sen(fm) dx = —é cos(bx) + ¢

etgm
(2.3) / dx = e + ¢

cos? ¢



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (32" 4 25 +22° — 1) = 212° 4 62° + 102* = 2* (2122 + 6z + 10)

(1.2) D log x _z — xlogz + cosx + z(log x)senx
T 4 cosx z(x + cos z)2
6z +9
1.3 D (1 2 -V = =7
(1.3) (1og (30 + 92— 7)) = 50 >

(14) D (e?f;) e+
' (z —3)?

1 —2z
1.5 D =
(1.5) <10g2+x2> (log2 + z2)?

2. Determinare

1
(2.1) /d:p:log|az|—|—c
x
1 1
(2.2) / dx = §arctg(2x) +c

1+ 4x2

(2.3) /ezsen (") de = — cos(e”) + ¢

10



NOME:

1. Calcolare

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

D (2a® — 2* + 323 — 11) = 1627 — 42® + 92? = 2? (162° — 4z +9)

D(logm)_x+e””—(ex+l)xlog$_ —x —e* +e*rlogr + xlogw
T +ev z (z + e)?  (z + e)?
8r — 7
D (log (422 — 7w — 6)) = ——2 L
(log (12 =72 = 6)) = 57,5
62<mI52)
D(;fff):ei
(x +5)2

D(Qx—?)) B —22% + 62+ 2

24+1) (22 +1)2

2. Determinare

(2.1)

(2.2)

(2.3)

/cos:nd:z: = senz + ¢

1
= —arcsen(3z) + ¢

1
—d
/\/1—93:2 T3

/ ST ta )+
———— dz = tg(senx) + ¢
cos?(senx) &

11



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (427 — 32% + 22° — 62) = 2826 — 182° 4 102* — 6 = 2 (142° — 92° + 5a* — 3)

12) D( log z >:(1—logaj

z +logx x + log x)?
10z + 9
1.3 D (log (52> +92 —3)) = ——————
(1.3) (log (2% + 92 =3)) = =553

2(x—2)

20 —4 106 2zx+1
14)  D(eFF) = E
(1-4) c (22 + 1)2

(1.5)

D senx B (631" + xz) cosx — (3e3z + acz) senx
e3® + a2 (e37 + 22)>

2. Determinare

(2.1) /senmda:: —cosz+c¢

(2.2) /00821(7@ dx = %tg(?x) +c

(2.3) / SN G = —log |cosz| + ¢
cos

12



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1.

2.

Calcolare

(1.1) D (32° — 22" + 42? — Tz) = 152* — 82® + 8z — 7

1
arcsene xﬁfif — (3 +1)arcsenz 52 V1 — x2zrarcsenz — /1 — x2arcsenz + x log x
(1.2) = =
x + logx (x + log x)? zV1 — 22%(x + log x)?
120 — 4
1.3 D (1 2 4r—-1))= —"——
(1.3) (log (62 7=1)) 622 —4x — 1
10¢ 551
2z 44 e 3w
14) D (eFH) =t
(1.4) ¢ (3z +1)2
(15)  D((Ta®+2%)log(2 +¢*)) = (L4z + 5a") log(2 + ¢) + (Ta® 4 2”) 5 i -

Determinare

(2.1) /exd:c:ex—l—c

2
(2.2) /\/%d$:3\f7:v3/2+c

1
(2.3) / COS(;g:U) dx = sen(logz) + ¢

13



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME:

1.

2.

Calcolare

(1.1) D (42% — 62® + 5z* — 11z) = 362® — 482" + 202% — 11

(1.2)

T + senx (x 4 senz)?
142 + 8
1.3 D (log (722 + 8z —6)) = ——————
(13) (log (7% + 82 = 6)) = -3~
2(xz—2)
2z—4 10e " =+3
1.4 D< = ) _ e =+
(1-4) © (x 4 3)2
22(e” +1)

(1.5) D <arctg <€I2 + x2)> =

Determinare

1
(2.1) / dx = arctgx + ¢

1+ 22

1 log ||
2.2 —dx =
(2.2) 5z €T 5 +c

(23) /SGHLL’ (6cosr) dr = —e°s7® +c

14 (e** + a:2)2

D ( arctgr ) _ EEHE — (cosw + 1)arctgr

14

MATRICOLA:



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (227 4 42% + 32% — 112?) = 1425 + 2425 + 927 — 222 = z (142° + 242" + 9z — 22)

(1.2) D arctgr '\ (2% 4+ 1) (senz — 1)arctgz + = + cosx
' r+cosx) (22 4+ 1) (x + cos x)?
16z + 3
1.3 D (log (82® +32— 7)) = —5——=——=
(1.3) (log (82% + 32 =7)) = g3

2(z+2)

2044 2¢ =+3
1.4 D a3 ) = ———
(1-4) (%) (@ + 3)2

(1.5) D (—2* 4 22%logz) = 4z log
2. Determinare

(2.1) dx = arcsenx + ¢

IE=
(2.2) /COS(S:U) dx = ésen(Sm) +c

(2.3) / (ex)exl dx = arctg(e”) + ¢

15



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (2a° 4 32° — 2 + 22%) = 1225 + 152* — 423 + 622 = 22 (122° + 152? — 4z + 6)

( COS I > (z + arcsenx) senx + (ﬁ + 1) cos
D=2

(12) - - 2
T + arcsenx (z + arcsenx)
18x + 15
1.3 D (log (922 + 152 — 5)) = —————
(1.3) (log (92% +152 —5)) = 5 e, —5

4z42

dz+2 6e = +2
14) D ( = ) _ e
(1.4) © (z +2)?

arctgx

€
1.5 D arctgzr) _
(15)  D(eweE) = g

2. Determinare

1
(2.1) /COS2$da::tgx+c
1
(2.2) /sen(Sx) dr = ~3 cos(3x) + ¢

(2.3)

dx = log |arcsenz| + ¢

1
/ V1 — z2arcsenz

16



NOME:

1.

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

Calcolare

(11) D (4a° 4 22* — 72% 4 22) = 202" + 82° — 2122 + 2

COGNOME:

(1.2)

T + arctgzr

2 4

(1.3) D (log (z? + 4z — 12)) = T

dz—2 10@%
14 Do) 1T

(3x +1)2
—senx

1.5 D (y/cosx+2) = ———
( ) ( ) 2y/cosx + 2

Determinare

5
(2.1) /m4dm:x5+c

1 1
(2.2) / dx = —arctg(4z) + ¢

1+ 1622 4

etg:z:
(2.3) / dx = e'®" + ¢

cos? x

2 +4r — 12

D ( Cos T ) (95271“ + 1) cos x + senz (x + arctgx)
- (z + arctgz)?

17

MATRICOLA:



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32" 4 25 — 5a* — 9z) = 212° 4 62° — 2023 — 9

(1.2) D ( arctgx ) _ afarctgr — x4 arctgz
’ T + arctgr (x24+1) (z + arctgx)2
dx — 7
1.3 D (1 222 — 7 9)) = ———m—
13) Dllog( e r) - T
dx42
dz+2 8eza—1
14)  D(eFd) =
(1.4) ¢ (1 - 22)2

1 —2x
1.5 D =
(1.5) <log2+x2> (log2 + 22)?2

2. Determinare

1
(2.1) /x dx =log|z|+ ¢

1
= —arcsen(bz) + ¢

1
(22) /mdw 5

(2.3) /exsen (€*) dx = —cos(e”) + ¢

18



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (42° 4 22° + 22% — 62) = 2425 + 10z* 4 62 — 6 = 2 (122° + 5z* + 32 — 3)

(1.2) D <arctgac> _ ijﬂ — (e” + 1) arctgz _ e"zfarctgr + x”arctgr — x — e” + e*arctgx + arctgx

. T+ e (x + ev)? (z +e®) (22 4 1)

6x — 8

1.3 D (log (322 - 82 —9)) = —— —
(1.3) (log (3 z—9)) P R —
(14) D ( ‘émﬁ) 285

. €T = —_—

(3x +1)2

(1.5)

2x — 3 —222 4+ 6x + 2
D =
22+ 1 (22 4 1)2

2. Determinare

(2.1) /cosxdz = senx + ¢

(2.2) /00821(4$) dzx = %tg(llx) +c

cos
2.3 ——dr =1t
(2:3) / cos?(senx) T = tglsenz) +c

19



NOME:

1. Calcolare

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

(1.1) D (228 — 42" + 32* —5) = 162" — 2825 + 1227 = 43 (42* — 723 + 3)
(1 2) D cos X _ sen’z + xsenz + cos? x + cosx _ xsenx + cosT + 1
’ r+senxr ) (z + senx)? N (z + senx)?
8 + 2
1.3 D (1 422 420 — 7)) = ————
dx+2
dz+2 10e3=-1
1.4 D < m) -
(1-4) ¢ (1 - 3z)2
(1 5) D senx B (631’ + xz) cosT — (363z + xz) senx
. e3x +x2 - (egx +$2)2
Determinare
(2.1) /senmd:ﬁ: —cosz+c¢
1 log |z|
2.2 —dr = ——
(2.2) / cdr =By
(2.3) / SN e = —log|cosz| + ¢
Ccos T

20



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1.

2.

Calcolare

(11) D (327 —5a® + 42? — 11) = 272® — 402" + 8z = x (2727 — 402° + 8)

(1.2) D( cos T ) _ e"senw + xsent + e cosx +cosx (4 e¥)senx 4 (e” 4 1) cosx

' x+er (z + e®)? (z + ev)?

10z — 8

1.3 D (log (522 — 8z —8)) = ————
(13) D (log(s0® — 80— 8) = A28
(14)  D(¥F) i

: ew =—

(x+1)2

el‘

2+ e*

(1.5) D ((72? + 2°)log(2 + €”)) = (14z + 5z*) log(2 + €*) + (7z? + 2°)

Determinare

(2.1) /e"’d:ﬂ:ew—l—c
(2.2) /cos(6x) dx = ésen(Gx) +c

1
(2.3) / cos(xoga:) dx = sen(logz) + ¢

21



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32" 4 22% + 52 4 8) = 2125 + 122° + 5

(1.2) D ( senx > _ (z+logz)cosz — (1 +1)senz 22 cosz — zsens — senz + x log z cosw

x + logx (x + log x)? z(z + log x)?
122 — 6
1.3 D (log (622 — 62 — 7)) = ————
(1.3) (log (62 7=7)) 622 — 6x — 7
4x+3
4z+3 Te=—1
14) D) =
(1.4) ¢ (x—1)2
2a(e® 4 1)

(15) D (arctg (efﬂQ + x2)> =7 +(en? + x2)2

2. Determinare

1

(2.1) / 522 dx = arctgx + ¢
2

(2.2) /v5wdx = g\/gx3/2 +c

(2.3) /sena: (e°°%) dx = —e“®F + ¢

22



NOME:

1. Calcolare

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

D (4a* + 723 + x — 6) = 162° + 2127 + 1

D( senx ) _ —e®senz —senx + e” cosx + xcosx  (z+e”)cosz — (e” 4 1) senx
x+er (z + e®)? ( + e¥)?
14z +5
D (log (722 +52—2)) = -—5————
(log (747 + 52 — 2)) 722 4 bx — 2

2 Szj»;
3z+4 e
D ( o ) -

¢ (x +2)?

D (—x2 + 222 log x) =4dxlogx

2. Determinare

(2.1)

dx = arcsenz + ¢

=
/sen(?x) dr = —% cos(7x) + ¢

/ (el‘)eﬁ dx = arctg(e®) + ¢

23



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32° 4 52 + 82% — 62) = 152" + 202% 4 242° — 6

(1.2) D e’ _e"(z +senz — cosw — 1)
’ r+senx ) (z + senx)?
16x + 4
2 —
3z+4
344 He2e+1
14) D) =2
(1.4) ¢ 2z +1)2

earctgm

1+ 22

(1.5) D (e?rete?) =

. Determinare

1
(2.1) /costd$:tgx+c

1 1

(2.3) dx = log |arcsenz| + ¢

1
/ v1 — x%arcsenz

24



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (22° — 32° + 72% — 162) = 122° — 152" + 14z — 16

(1.2) D e’ _e"(z +senz + cosw — 1)
’ r4cosx) (x + cosx)?
18z +9

1.3 D (log (922 + 92 —11)) = —— ——
(1.3) (log (922 + 9z ) 922 + 9z — 11

7 3xz—4

3z—4 e z+1
1.4 D( aF1 ) =
(1.4) ‘ (@ +1)2
—senz

1.5 D (v +2) = —
(1.8) ( oS ) 2¢/cosx + 2

2. Determinare

5
(2.1) /:E4da::x5+c

1
= —arcsen(2z) + ¢

1
(22) /mdm 2

etgm
(2.3) / s—dr = e +¢
cos?

25



NOME:

1.

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

Calcolare

(1.1) D (32° — 22" + 92% 4 11z) = 182° — 8z% 4 18z 4 11

COGNOME:

(1.2) D( e >:ew($2—x+xlogx—1)

x + logx x(x + log x)?
(1.3) D (log (22% + 15z — 7))
4x—3
4z—3 e x—1
14) D ( = ) —

1 —2x
1.5 D =
(1.5) <log2+x2> (log2 + 22)2

Determinare

1
(2.1) /x dx =log|z|+ ¢
1 1
(2.2) / dx = §tg(3x) +c

cos?(3x)

(2.3) /ewsen (") dx = —cos(e”) + ¢

B 4x + 15
2224152 — 7

26

MATRICOLA:



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (22% 4527 — 72 — 16) = 182® + 3525 — 2122 = 22 (182° 4 352* — 21)

(1.2) D log = B zhsens _ (logx)(cosx + 1)  —z+xzlogx —senz + xlogx cosx
) r+senx ) (x + senx)? N x(x 4 senx)?
6z + 8
1.3 D (log (32> + 8z —8)) = ————
(1.3) (log (32% + 82 —8)) = o555

3z—4
3z—4 10e =+2

1.4 D< = ) —
( ) e =F (1,+2)2

(1.5)

2z — 3\ —2z% + 6z + 2
224+1) (22 +1)?

2. Determinare

(2.1) /cosmdx = senx + ¢
2
(2.2) /\/Bxdx = g\/§x3/2 +c

cos T
2.3 ———dr =t
(2.3) / o (sen) xr = tg(senz) + ¢

27



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (327 4 22° + 62* 4 42?) = 2125 4 102* + 242° + 8z = z (212° + 102° 4 2427 + 8)

(1.2) D <arcsenaz> B % — (e* 4 1) arcsenz e VT~ 2Zarcsenz + /1 — 2Zarcsens — o — ¢

| e (£ +er)” (@ +em)* VI—a?

8r+9

1.3 D (log (42> + 92 —8)) = ——————
(1.3) (log (402 + 92— 8)) = ==
(1.4) D( 3‘”*‘%) 5ei-2

. e <r— = —

(1 —2x)2

(1.5) D ( senw > (3 + 22) cosa — (3¢3* + 2?) senz

e3® + x2 (€3 + 22)°
2. Determinare

(2.1) /senwdac: —cosT +c¢

1 log |z|
2.2 — =
(2:2) /6xdw 6 ¢

(2.3) / By - —log|cosz|+ ¢
cos T

28



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME:

1.

2.

Calcolare

MATRICOLA:

(1.1) D (62° — 32* — 8% 4 2z) = 362" — 122° — 162 + 2 = 2 (182° — 62° — 8z + 1)

(1.2) D log = _ x — zlogx + cos z + x(log x)senz
T + cosx z(x + cos z)2
10z +1
1.3 D (1 512 1)) = T
(1.3) (log (522 + x — 1)) e

3x—4

Bw—4 16e =+12
(1.4) D<e z+4) = G iy

(1.5) D ((722 + 2°) log(2 + 7)) = (14z + 5z*) log(2 + €®) + (72% + 2°)

Determinare

(2.1) /ewd:c—egﬁ—i-c
(2.2) /005(937) dx = %sen(%:) +c

1
(2.3) / cos(log z) dx = sen(logx) + ¢
x

29

e.iL'

24 e*




NOME:

1. Calcolare

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

(1.1) D (32° 4 22® — 42% 4+ 5) = 152* + 62% — 8x
(1.2) D < log ) _x+et—(e"+1)zlogr  —x—e” +e’rlogr +xlogx
' T +ev z (z + e)?  (z + e)?
122 +5
1.3 D (log (622 + 52 —3)) = —————
(13) D (og (60450 —3)) = 120
(1 4) D( gr:j) 106%
: eFl | = ———
(2z+1)2
2
2x(e” 1
(1.5) D <arctg <ez2 + x2)> = (e +1) 5
14 (e** + 2?)
Determinare
1
(2.1) / 22 dx = arctgx + ¢
1
(2.2) /sen(5x) dr = —= cos(bx) + ¢
(2.3) /senaz (e°®%) dox = —e“®% 4 ¢

30



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME:

1. Calcolare

(1.1) D (2284 22° — 42® — 3) = 162" + 10z* — 1227

COGNOME:

1 1-1
(1.2) D ogx _ ogx
x + logx (z + log x)?
14z + 7
1.3 D (log (722 + T2 — 6)) = 0—5—————
(1:3) D (log (7* + 70 =6)) = 7575
2 3113
2243 e 4x+5
1.4 D 4x+5 e —
(1.4) G +> (42 + 5)2

(1.5) D (—2? 4 22%logz) = 4z log

2. Determinare

(2.1) /\/11_7562 dx

= arcsenx + ¢

1 1
(2.2) / dx = —arctg(2z) + ¢

1+ 422 2

(2.3) / 671 dx = arctg(e”) + ¢

(e*)? +

31

MATRICOLA:



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32° —da* + 627 — 9) = 182° — 162> + 122 = 2z (92* — 822 + 6)

z+log x 1 .
< arcsent > Ao (3 +1)arcsenz 42 _ /T z2garcsenz — v/1 — 22arcsens + xlogx

x + logx (x + log x)? zV1 — 22%(x + log x)?
6z 4+ 5
1.3 D (1 2 -2))=c5——"—
(13) D (log (327 45w —2)) = 0T

2x—3
2zt73) . 236@
~ (bx +4)2

arctgz

e
1.5 D arctgr) _
(L5)  D(ewenn) =

2. Determinare

1
2.1 der =t
(2.1) /00521: r=terte

1 1
(22) /m dﬂj’ = garcsen(333) +c
-9z
1
(2.3) / T arcsons dx = log |arcsenz| + ¢

32



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (22° 4 32% — 22* — 2) = 182% + 182° — 82® = 223 (92° + 92? — 4)

12 D ( arctgx ) _ EEHE — (cosw + 1)arctgr

T + senx (z + senz)?
(1.3) D (log (52% + 4z — 7)) = 5:521?424—7
(1.5) D (Vcosz +2) = 2\/%

2. Determinare

5
(2.1) /x4d:c:x5+c

(2.2) /1 dx = %tg(?x) +c

cos?(7x)

etga:
(2.3) / 5 dr =e'®" + ¢
cos?

33



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1.

2.

Calcolare

(11) D (32% — 2" +52% — 9) = 242" — 72 + 102 = z (242° — 72° 4 10)

12) D ( arctge > (2% 4+ 1) (senz — 1)arctgz + = + cosx

x + cosx (2 4+ 1) (z + cos x)?
(1.3) D (log (8302 — 3z — 9)) = %
()
(1.5) D <log 21—1- x2> - (log;i—xx?)Q

Determinare

1
(2.1) /x dx =log|z|+ ¢
2
(2.2) /v7$dx:3\ﬁx3/2+c

(2.3) /e”’sen (e¥) dx = —cos(e®) + ¢

34



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (2°—22® — 42 +12) = 92% — 1627 — 1222 = 2 (92° — 162° — 12)

( COS I > (z + arcsenx) senx + (ﬁ + 1) cos
D=2

(12) - - 2
T + arcsenx (z + arcsenx)
14z + 2
1.3 D (log (722 +2x —-5)) = ————
(1.3) (log (2% + 20 =5)) = 55—
2x+3
2243 Q¢ ==3
1.4 D( fs) =
(1.4) € (z — 3)2

2¢ — 3 —222 + 62 + 2
(1.5) D(w )_ x* + 62 +

24+1) (22 +1)2
2. Determinare

(2.1) /cosxd:p = senx + ¢

1 log |z
2.2 —dx =
(2.2) /595 T=—p te

cos
2. — _dx =
(2.3) / co2 (senz) xr = tg(senz) + ¢

35



NOME:

1. Calcolare

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

(11) D (2z7 —62° — 2* — 6) = 1425 — 302* — 423 = 22° (723 — 152 — 2)
COS T (962—1+1 + 1) cos x + senz (x + arctgx)
1.2 D = —
( ) (.’E + arCthE) (m _I_ arctgx)2
122 — 4
1.3 D (log (622 =42+ 7)) = —————
( ) (og(x T+ )) 6x2—4x+7
3x+2
3z42 Tetz+5s
14)  D(eBE) =
(1.4) € 4z 15
(1.5) D senx B (639” + x2) cosT — (36393 + 1:2) senw
' e a2 ) (€37 + 12)?
Determinare
(2.1) /senxdx: —cosx + ¢
1
(2.2) /COS(SZU) dx = gsen(8x) +c
(2.3) / SNz = —log|cosz|+ ¢
cosx

36



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (2a* — 5a® — 62 — 5) = 823 — 152% — 122 = x (82 — 15z — 12)

(1.2) D ( arctgx ) _ afarctgr — x4 arctgz
’ T + arctgr (x24+1) (z + arctgx)2
14z — 3
1.3 D (log (722 =32 —12)) = ——————

3r—2
3z—2 292¢5z+4

14 D( sm) _ e

(1.4) c (52 + 4)2

e
2+ e*

(1.5) D ((72* 4 2°) log(2 + €¥)) = (14z + 5a*)log(2 + €”) + (722 + )
2. Determinare

(2.1) /ezdx:equc
(2.2) / sen(3z) dz — fé cos(3z) + ¢

1
(2.3) / cos(log z) dzx = sen(logz) + ¢
x

37



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (52° — 5a® + 4% 4 8) = 302° — 25z* + 122? = z? (302® — 2522 + 12)

(1.2) D <arctgac> _ ijﬂ — (e” + 1) arctgz _ e"zfarctgr + x”arctgr — x — e” + e*arctgx + arctgx
. T+ e (x + ev)? (z +e®) (22 4 1)
12x + 4
1.3 D (log (62% + 42 — 5)) = ——————
(1.3) (log (62 + 4z —5)) = 3=

3xz+2
3a+2 23e5-1=

(14) D (e —4r+s> -

22(e” +1
(1.5) D (arctg (e””2 + 132)) = (e +1) :
1+ (e** + 2?)

2. Determinare

1
(2.1) /szdl' = arctge + ¢

1 1

(2.3) /senx (e°°%) dx = —e“®" + ¢

38



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME:

1. Calcolare

MATRICOLA:

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

D (327 +a°® + 225 — 1) = 212° + 62° + 102* = z* (2127 + 6z + 10)

D Ccos X _ sen’z + xsenz + cos? x + cosx _ xsenx + cosT + 1
r+senxr ) (x 4 senzx)? (x 4 senzx)?
2x + 15
D (1 24152 —-8)) = —~——
(log (% + 152 = 8)) = -5
3xz+2
3w42 Je3a+1
D < 3;v+1> [ S —
‘ (3x +1)2

D (—2? 4 22%log z) = 4z log

2. Determinare

(2.1)

(2.2)

(2.3)

1
————dx = arcsenz + ¢
/ V1— 22
= —arcsen(bz) + ¢

1
—d
/\/1—253;2 T 5

/ (cﬂ;ﬁ dx = arctg(e®) + ¢

39



NOME:

1. Calcolare

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

D (2a® — 2* + 323 — 11) = 1627 — 42® + 92? = 2? (162° — 4z +9)

D( cos T ) _ e"senw + xsent + e cosx +cosx (4 e¥)senx 4 (e” 4 1) cosx
x+er (z + e®)? (z + ev)?
dr + 4
D (log (222 + 42 -7)) = ————
(log (22 + 4z — 7)) 202 + 40— 7

3x+2

3242 lle=-3
D ( ﬁ) -
‘ (z - 3)?

earctgr
D (earctgr) —
1+ 22

2. Determinare

(2.1)

(2.2)

(2.3)

1
/ 5 dr =tgr+c
cos? x

1 1
/ dx = Ztg(4x) +c

cos?(4x)

dx = log |arcsenz| + ¢

1
/ v1 — x%arcsenz

40



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:
1. Calcolare
(11) D (427 — 32% + 22° — 62) = 2826 — 182° 4 102* — 6 = 2 (142° — 92° + 5a* — 3)
(1.2) D senx _ (z+logz)cosz — (2 41)senx % cosx — asenz — senz + x log x cos x
' r+logxr) (x + log x)? B z(z + log x)?
6x +9
1.3 D (log (322492 7)) = ————
(1.3) (log (32% + 92 = 7)) = 5 5o %
2(c+2)
204 6e =5
14) D ( o ) _ e
(14) ‘ (@ +5)2
—senz
1.5 D (v +2) = —
15) ( o ) 2¢/cosx + 2
2. Determinare
5
(2.1) /x4d:1::x5+c
1 log ||
2.2 —dr = ——
(2.2) / o dx S +c
etgm -
(2.3) /Cos2xdm:eg +c

41



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32° — 22" + 42? — Tz) = 152* — 82® + 8z — 7
senz —e®senx — senx + e* cosx + xcosz  (x+e*)cosz — (¥ + 1) senx
(12) D z = 2 = 2
T+e (x+e®) (x +e%)
8x — 7
1. D (log (42? — Tz — =
(1.3) (log (42 = 72 = 6)) = -7
10 2(xz—2)
o 2z 1
(1.4) D (eg.rﬁ) _ e
(2 +1)2
1 —2z
1.5 D =
(1.5) <log2+x2> (log2 + 22)2

2. Determinare

(2.1) /idm = log|z|+ ¢
(2.2) /COS(Gm) dx = ésen(Gx) +c
(2.3) /e”’sen (e¥) dx = —cos(e®) + ¢

42



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (42% — 62® + 5z* — 11z) = 362® — 482" + 202% — 11

(1.2) D e’ _e"(z +senz — cosw — 1)
’ r+senx ) (z + senx)?
10z +9
1.3 D (log (522 + 92 — 3)) = ————
(1.3) (log (2% + 92 =3)) = =553

2(z42)

2044 10e 32+1
14)  D(FH) =
(1-4) c (3z +1)2

(1.5)

2z — 3 —222 + 62 + 2
D
(@2 + 17

2. Determinare

(2.1) /cosa:dx = senz + ¢
2
(2.2) /\/538 dx = g\/gx?’ﬂ +c

cos
2.3 ——dr =1t
(2:3) / cos?(senx) T = tglsenz) +c

43



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (227 4 42% + 32% — 112?) = 1425 + 2425 + 927 — 222 = z (142° + 242" + 9z — 22)

(1.2) D e’ _e"(z +senz + cosw — 1)
’ r4cosx) (x + cosx)?
12z — 4
2 —

2(x—2)

20—4 10e =+3
(14) D <€ z+3 ) = m

(1.5)

D < senx ) (631" + xz) cosT — (3e3z + xz) senx

(€37 + 22)
2. Determinare

(2.1) /senmda:: —cosz+c¢

(2.2) /sen(?x) der = —% cos(7z) + ¢

(2.3) / SN = —log|cosz|+ ¢
cos T

44



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (2a° 4 32° — 2 + 22%) = 1225 + 152* — 423 + 622 = 22 (122° + 152? — 4z + 6)

(1.2) D( e >:ew($2—x+xlogx—1)

x + logx x(x + log x)?

142 +8
1.3 D (log (722 +8z —6)) = ————
(1.3) (log (72 + 82 -6)) = = 55—

2(z+2)

2044 2¢ =+3
1.4 Dle=t3 ) =
(1.4) <€ * ) (z + 3)2

x

2+ e*

(1.5) D ((72? + 2°) log(2 + 7)) = (14z + 5z*) log(2 + €®) + (72% + 2°)
2. Determinare

(2.1) /ezda::ex—kc

1 1

(2.3) / cos(log z) dx = sen(logz) + ¢
x

45



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (4a° 4 22* — 72% 4 22) = 202" + 82° — 2122 + 2

(1.2) D log = B zhsens _ (logx)(cosx + 1)  —z+xzlogx —senz + xlogx cosx
) r+senx ) (x + senx)? N x(x 4 senx)?
162 + 3
1.3 D (1 822432 —-17))= ——————
(1.3) (log (2% +32 7)) = g o5 —

4x+2

4z42 6e =+2

2z(e” + 1
(1.5) D (arctg (6”2 + x2)) = (e +1) 5
1+ (e¥* + 2?)

2. Determinare

1
(2.1) /H—:zﬂdx = arctgx + ¢

1
= —arcsen(2z) + ¢

(2.2) /1_1 T dx 5

(2.3) /sen:c (€°°%) dx = —e*% + ¢

46



NOME:

1. Calcolare

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME:

D (327 + 2% — ba* — 9z) = 21a° + 62° — 202° — 9

D <arcsena:> _ f% — (e” + 1) arcsenx

x + e (z+ev)?
18z + 15

D (eﬁ,ilf) 7106%
(3z+1)2

D (—x2 + 222 log x) =4zxlogx

2. Determinare

(2.1)

(2.2)

1
———— dx = arcsenz + ¢
/ V1—2a2
1 1
/ dz = gtg(&’c) +c

cos?(3x)

/ (cﬂ;ﬁ dx = arctg(e®) + ¢

47

MATRICOLA:

e®v/1 — z2arcsenz + v1 — z2arcsenx — x — €°

(z +e)’ V1 — 22



NOME:

1. Calcolare

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

D (42° + 22° 4 22® — 61) = 242° + 102" + 62% — 6 = 2 (122° 4 5a* + 32% — 3)

D( log = )_x—:clogx+cosx+a:(logx)sena:

T 4+ cosx

D (log (1:2 + 4x — 12)) =

4x+2

4042 8e2z—1
D< m) -
¢ (1 2z)?

earctgm

1+ 22

D (earctgm) —

2. Determinare

(2.1)

(2.2)

(2.3)

1
5 dr =tgr+c
cos? x

x(x + cos x)?

2z + 4

2 +4x — 12

/\/Bmdx = %\/§x3/2+c

1
/ v1 — x%arcsenz

dx = log |arcsenz| + ¢

48



NOME:

1. Calcolare

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

(11) D (2x8 — 4z + 3t — 5) = 1627 — 281 + 1243 — 423 (4564 73 n 3)
(12) D(logl')_$+e$_(e$+1)xlog$_ —7—e® +e?xlogy + zlogx
| v z (2 + e7)’ x(z +ev)?
4o — 7
1.3 D (1 202 -7 9N)= ——
(1.3) (log (2 z+9)) B
dz+42
do+2 2e3a+1
1.4 D( 3z+1> - =
(1.4) ‘ 2
—sent
1.5 D (vcosx+2)= —
(18)  D(Veosz+2) = 352
Determinare
5
1 _ log ||
(2.3) / c dx = e + ¢
cos? x

49



NOME:

1.

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

Calcolare

COGNOME:

MATRICOLA:

(11) D (327 —5a® + 42? — 11) = 272® — 402" + 8z = x (2727 — 402° + 8)

12) D( log z >:(1—logaj

z +logx x + log x)?
(1.3) D (log (32 — 8z — 9)) =
442
) o 10
(14) D <e ) = a5y

1 —2z
1.5 D =
(1.5) <10g2+x2> (log2 + z2)?

Determinare

1
(2.1) /d:p:log|az|—|—c
x
1
(2.2) /cos(9x) dx = §sen(9x) +c

(2.3) /ezsen (") de = — cos(e”) + ¢

6xr — 8
322 -8z —9

50



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32" 4 22% + 52 4 8) = 2125 + 122° + 5

z+log x 1 .
< arcsent > Ao (3 +1)arcsenz 42 _ /T z2garcsenz — v/1 — 22arcsens + xlogx

x + logx (x + log x)? zV1 — 22%(x + log x)?
8z + 2
1.3 D (log (422 + 22 — = ——
(13)  D(log (s 20— 7)) = T2

3x+4

3z44 e+l
14) D ( = ) __ 7
(1.4) © (x4 1)2

2z — —2x2 2
(1.5) D( x 3)2 x® + 6 +

241 (2 +1)2
2. Determinare

(2.1) /cos:rdac = senz + ¢
1
(2.2) /sen(5x) de = —x cos(bx) + ¢

cos T
2.3 ——dr =1t
(2.3) / T — x = tg(senz) + ¢

51



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (4a* 4+ 72 + z — 6) = 1623 + 212% 41

12 D ( arctgx ) _ EEHE — (cosw + 1)arctgr

x + senx (x 4 senz)?

10x — 8

1.3 D (log (522 — 8z —8)) = ————
(18) D (log(5a% 80— ) - 18

4x+3

(1.4) DQﬁf>:—éi:¥

(1.5)

D senx B (€3I + xz) cosx — (3633” + xz) senx
e3 422 ) (e37 + 22)?

2. Determinare

(2.1) /senxdx = —cosx + ¢

1 1
(2.2) /ZH—4::32 dx = iarctg(Qa:) +c

(2.3) / SN = —log|cosz| + ¢
cos T

52



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32° 4 52 + 82% — 62) = 152" + 202% 4 242° — 6

12) D ( arctge > (2% 4+ 1) (senz — 1)arctgz + = + cosx

x + cosx (2 4+ 1) (z + cos x)?
122 — 6
1. D (1 2 _Gr—-7))= —=~ ~
(18) D (log(6a — 6o 7)) = 120

3x+4+4

(14) D (e ?:I;‘) _ 2e=P
(x +2)?

eI‘

2+ e*

(1.5) D ((72* 4 2°) log(2 + €¥)) = (14x + 5a*)log(2 + €”) + (72? + 2°)
2. Determinare

(2.1) /ezdx:equc

1
= —arcsen(3z) + ¢

(2.2) /1 _1 o=

1
(2.3) / cos(xoga:) dx = sen(logz) + ¢

53



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (22° — 32® + 72% — 162) = 122° — 152" + 14z — 16

( COS & > (z + arcsenx) senx + (ﬁ + 1) cos
Dl—="

(1.2) - 2
T + arcsenx o
142 +5
(1.3) (Og(x_|_ T )) s
3a4d
(1.4) D(ezii‘;) _ bewH
(22 + 1)2

22(e” +1
(1.5) D (arctg (e’”z + x2)> = z(e” +1) 5
1+ (e** + 2?)

2. Determinare

1
(2.1) /Hde.’L' = arctge + ¢

(2.2) /00821(7@ dx = %tg(?x) +c

(2.3) /senx (e°%) dor = —e“*% 4 ¢

54



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME:

1.

2.

Calcolare

(1.1) D (32° — 22" + 92% 4 11z) = 182° — 8z% 4 18z 4 11

cos T (mTl.J,_l +1) cos x + senx (r + arctgr)
1.2 D = —
(1.2) (x+arctgaz> (m—l—arctgx)2
16z + 4
1.3 D (log (822 + 42 —1)) = ————
(13) (log (82 + 4z — 1)) = 5

3x—4

3z—4 Te =F1
1.4 D( ) —
(1.4) et ) (z + 1)2

(1.5) D (=22 + 222 log ) = 4z log x
Determinare

(2.1) dx = arcsenx + ¢

1
/ V1—2z?
(2.2) /\/%dx—;\ﬁx?’p%-c

(2.3) / (695)6;1 dx = arctg(e”) + ¢

55

MATRICOLA:



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (22% 4527 — 72 — 16) = 182® + 3525 — 2122 = 22 (182° 4 352* — 21)

(1.2) D ( arctgx ) _ afarctgr — x4 arctgz
. T + arctgr (22 + 1) (z + arctgz)®
18z 49
1.3 D (log (92% + 9z — 11)) = —————
(1.3) (log (92 + 92 ) 922 4 9z — 11

4x—3

(14 D() = (;_1)2

earctgr

1.5 D arctgzr) _
(15) D) = g

2. Determinare

1
(2.1) /cos2md$_tgx+c

(2.2) 1L gy = loslal
' 5z 5
1
(2.3) / T arcsons dx = log |arcsenz| + ¢

56



NOME:

1.

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME:

Calcolare

MATRICOLA:

(1.1) D (327 4 22° + 62* 4 42?) = 2125 4 102* + 242° + 8z = z (212° + 102° 4 2427 + 8)

e*x?arctgr + xarctgr — x — e + e®arctgr + arctgx

(1 2) D <arctgm> - ijﬁ; — (696 + 1) arctgx

x+er (x+ew)2
4x 4+ 15
1.3 D (1 202+ 152 —7)) = —— ——
(1.3) (og(x+ . )) 222 + 152 —
3x—4
— z+2
(]_4) D (63;+24) — 106;
(x+2)?
—senz
1.5 D (vcosx +2) = ————nr
( ) ( ) 2y/cosx + 2

Determinare
5
(2.1) /x4dm—x5+c

(2.2) /cos(8:r) dx = ésen(Sm) +c

etgac
(2.3) / 5— dr =e'®" + ¢
cos?

7

o7

(z +e7)? (22 + 1)



NOME:

1.

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

Calcolare

COGNOME:

MATRICOLA:

(1.1) D (62° — 32* — 8% 4 2z) = 362" — 122° — 162 + 2 = 2 (182° — 62° — 8z + 1)

xsenx + cosx + 1

(1 2) D Ccos X _ sen’z + xsenz + cos? x + cosx
’ r+senxr ) (z + senx)?
6x + 8
1.3 D (1 322 +82—-8) = —— ——
(1.4) D< 3”’1‘) beiE
. eze—1 | =
(1—22)2

1 —2x
1.5 D =
(1.5) (log2+x2> (log 2 + x2)?

Determinare

1
(2.1) /d:r:log\:ﬂ—i-c
x
1
(2.2) /sen(3x) dr = —3 cos(3z) + ¢

(2.3) /ewsen (") dx = —cos(e”) + ¢

58

(x + senx)?



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32° 4 22® — 42% 4+ 5) = 152* + 62% — 8x
(1.2) D( cos ) _ e"senw + xsent + e cosx +cosx (4 e¥)senx 4 (e” 4 1) cosx
' x+er (z + e®)? (z + ev)?
8x +9

1.3 D (log (422 +92 - 8)) = ————
13) D flog (st +00 ) = SEL
(14) D (%) 16e 5%

: ew =

(x+4)2
2z —3 —22% + 6z + 2

1.5 D =
(1.8) <x2+1> (2 +1)2

2. Determinare

(2.1) /cosmdw =senx + ¢
1 1
cos T
2.3 ——dxr =1t
(2.3) / cos?(senx) v = tg(senz) +c

59



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (2284 22° — 42® — 3) = 162" + 10z* — 1227

(1.2) p(_senz _ (z+logz)cosz — (1 +1)senz 22 cosz — zsens — senz + x log z cosw
' r+logxr) (x + log x)? B z(z + log x)?
10z +1
1.3 D(log (5z? +x—1)) = —5——
(1.3) (log (52% +2 — 1)) 522 + 1 —1

d2-3
(14) D (egﬁ;?) — M
(2x +1)2

(1 5) D < senr > _ (6337 +$2) CcoS T — (363x _}_1:2) sen

e3® + x? (€3 + 22)°
2. Determinare

(2.1) /senacdx = —cosx+c

(2.2) = —arcsen(bz) + ¢

1
—d
/\/1—251:2 T 5

(2.3) / ey - —log|cosz|+ ¢
cos T

60



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1.

2.

Calcolare

(1.1) D (32° —da* + 627 — 9) = 182° — 162> + 122 = 2z (92* — 822 + 6)

(1.2) D( senx ) _ —e®senz —senx + e” cosx + xcosx  (z+e”)cosz — (e” 4 1) senx
' x+er (z + e®)? ( + e¥)?
122 +5
1.3 D (log (622 +52x —3)) = —————
13) D (log (6 +50-3) = 2 FT
2x+43

2z43 2¢4z+5
14)  D(eBH) =
(1-4) ¢ (42 + 5)2

el‘

2+ e*

(1.5) D ((72? + 2°)log(2 + €7)) = (14z + 5z*) log(2 + €*) + (7z? + 2°)

Determinare

(2.1) /e"’d:ﬂ:ew—l—c
(2.2) /1 dx = itg(élx) +c

cos?(4x)

1
(2.3) / cos(log z) dx = sen(logx) + ¢
x

61



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME:

1.

2.

Calcolare

MATRICOLA:

(11) D (22° 4 32% — 22* — 2) = 182% + 182° — 82® = 223 (92° + 92? — 4)

(1.2) D < e” ) _ e®(x + senx — cosx — 1)

x + senx (x 4 senzx)?

14x + 7
1.3 D (log (722 + T2 —6)) = ————
(1:3) D {log (7* + 70 =6)) = 75~ =5

(14)  D(cHH) = et

(1.5) D <arctg (e”2 + x2)> _ 1 22(e” +1)

Determinare

1
(2.1) / 22 dx = arctgx + ¢

1 log |z|
2.2 —dx =
(2.2) /Sxdx S +c

(2.3) /sen:v (e°%) dr = —e“*% 4+ ¢

62



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1.

2.

Calcolare

(11) D (32% — 2" +52% — 9) = 242" — 72 + 102 = z (242° — 72° 4 10)

(1.2) D e’ _e"(z +senz + cosw — 1)
’ r4cosx) (x + cosx)?
6z + 5
1.3 D (log (322 +52x—2)) = ————
(1.3) (log (32* + 5 — 2)) 3x2 +bxr —2

2x+3

2043 22e¢5—4=
1.4 D< m) - =
(1-4) ¢ (5 — 4z)2

(1.5) D (—2? 4 22%logz) = 4z log
Determinare

(2.1) = arcsenz + ¢

1
—d
/\/1—x2 v

(2.2) /cos(6m) dx = ésen(Gx) +c

(2.3) / (690)(2:—#1 dx = arctg(e®) + ¢

63



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (2°—22® — 42 +12) = 92% — 1627 — 1222 = 2 (92° — 162° — 12)

(1.2) D( e >:ew($2—x+xlogx—1)

x + logx x(x + log x)?

10z + 4
1.3 D (log (52% + 42— 7)) = ————
(1.3) (log (ba” + 42 =7)) = 20—

2x+43

(1.4) D (ez.ffs?) _ de=r
(x + 3)2

earctgz

1.5 D arctgzr) _
(15) D) = g

. Determinare

1
(2.1) /COS2$da::tgx+c
(2.2) /\/53: de = 2\/5:63/2 +c

(2.3)

dx = log |arcsenz| + ¢

1
/ V1 — z2arcsenz

64



NOME:

1. Calcolare

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME:

MATRICOLA:

D (227 — 62° — 2* — 6) = 142° — 302" — 4% = 223 (72® — 152 — 2)

D < log = > _ zhsens _ (logx)(cosx + 1) _—x + zlogx — senz 4+ xlog x cosx
x + senx (x + senx)? x(x 4 senx)?

D (10g (8;02 — 3z — 9)) = %

D) 255

D (Veosz +2) = 2\/%

2. Determinare

(2.1)

(2.2)

(2.3)

5
/x4da::x5+c

1
/sen(?x) dx = —% cos(7z) + ¢

etgm
/ dr = e 4 ¢

cos? x

65



NOME:

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME:

1. Calcolare

(1.1) D (2a* — 52% — 622 —
arcsenz % — (e* 4 1) arcsenz
(12) D=0 = ‘ _
r+e (x + ez)
142 + 2
1.3 D (1 T2 +2r—5)) = ————
(13) D (log (e 20— 5)) = T2
3x+2
342 Te4z+5
14 D( 4z+5> -
(1.4) ‘ 4z + 5)?
1 —2x
1.5 D =
(1.5) <10g2+x2> (log2 + x2)2
. Determinare
1
(2.1) /a: dx =log |z| + ¢
1 1
2.2 — i
(2.2) / T 922 dx Sarctg(?)m) +c
(2.3) /exsen (%) de = —cos(e”) + ¢

66

MATRICOLA:

5) =83 — 1522 — 12z ==z (8302 — 15z — 12)

e®v/1 — z2arcsenz + v1 — z2arcsenx — x — €°

(z +e)’ V1 — 22



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (52° — 5a® + 4% 4 8) = 302° — 25z* + 122? = z? (302® — 2522 + 12)

(1.2) D log x _z= xlogx + cosx + z(log z)senx
T 4 cosx z(x + cos z)2
120 — 4
1.3 D (1 24 -7
3 (Og(6x :1:+7)) 62 —4x +7

3x—2

3z—2 22¢5c+1

14)  D(eF) =
(1-4) c (52 + 4)2

2 — —272 2
(1.5) D( T 3>_ x° + 6x +

2241/ (224 1)2
2. Determinare

(2.1) /cosa:dx = senz + ¢

(2.2) = —arcsen(2z) + ¢

1
——dx
/\/1—4112 2

cos T
2.3 ———dxr =1t
(2:3) / cos?(senx) T = tglsenz) +c

67



NOME:

1. Calcolare

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME: MATRICOLA:

(11) D (32" 4 25 +22° — 1) = 212° 4 62° + 102* = 2* (2122 + 6z + 10)
(1.2) D < log x ) x4 —(e"+1)xlogr  —z—e® +e’xlogxr+xlogr
' T +ev z (z + e)?  (z + e)?
14z — 3
1.3 D (1 T2 —3x —12)) = ———————
(1.3) (log (72 z ) 722 _ 37 _ 12
3xz+2
3o42 23e5-4=
14) D (") = 25
(1-4) ¢ (5 — 4z)2
(1.5) D senw B (63"” + xQ) coST — (363’” + x2) senz
. e3 +.’1§'2 - (egx +$2)2
Determinare
(2.1) /senwdac: —cosT +c¢
1 1
2.2 ————dzr = -tg(3
(2.2) /COSQ(?)x) T3 g(3z) +c
(2.3) / ST 1 = —log|cosz| + ¢
cos T

68



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (228 —2* +32® — 11) = 162" — 42® + 922 = 2? (162° — 4z + 9)

12) D( log z >:(1—logaj

z +logx x + log x)?
12z +4
1.3 D (1 2 4 4o — ==
(1.3) (log (627 + 4z - 5)) 622 +4x —5
3xz+2

3z42 3e3a+1
14 D< 3z 1) = -
(1-4) e (3z +1)2

e.iL'

24 e*

(1.5) D ((72? + 2°) log(2 + 7)) = (14z + 5z*) log(2 + €®) + (72% + 2°)
2. Determinare

(2.1) /ewd:c—egﬁ—i-c
(2.2) /v3wdx = gx/ga:?’p +c

1
(2.3) / cos(log z) dx = sen(logx) + ¢
x

69



NOME:

ESERCITAZIONE DEL 19 DICEMBRE 2018

COGNOME:

1. Calcolare

2.

MATRICOLA:

(11) D (427 — 32% + 22° — 62) = 2826 — 182° 4 102* — 6 = 2 (142° — 92° + 5a* — 3)
1
(1.2) D < arcsenr > _ 3\7% - (% + 1) arcsenr. 2% — /1 — x2xarcsenz — /1 — x2arcsenz + x log v
' z+logz) (x + log x)? N zV1 — 22%(x + log x)?
22 +15
1.3 D (1 2 4152 — =
(1.3) (og(x+ 5x 8)) 2 150 _8
3xz+2
3a+2 lle==3
14)  D(FF) =
(1.4) c (z — 3)2
2
2x(e” 1
(1.5) D <arctg <ez +x2)> = 2(e” +1) 5
14 (e** + 22)
Determinare
1
(21) /1-’-3;'2 dil,’ = arCthT +c
1 1
(2.2) L gy = losl2l
6x 6
(2.3) /senx (e°%) dor = —e“®*% 4 ¢

70



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32° — 22" + 42? — Tz) = 152* — 82® + 8z — 7

(1.2) p (_arcter ) _ TET — (cosa + 1)arctgr
’ r+senxr ) (z + senx)?
dor +4
1.3 D(log (222 +42 - 7)) = —5————
(1) (log (22 + 4o = 7)) 202 442 — 7

2(z+2)

2344 6e =+5
1.4 D< ?) -
(1.4) © (x +5)2

(1.5) D (—2? 4 22%log ) = 4z log x
2. Determinare

(2.1) dx = arcsenx + ¢

| =
(2.2) /cos(9$) dx = ésen(9x) +c

(2.3) / (er)cj—i—l dx = arctg(e®) + ¢

71



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (42% — 62® + 5z* — 11z) = 362® — 482" + 202% — 11

(1.2) D arctgr '\ (2% 4+ 1) (senz — 1)arctgz + = + cosx
' r+cosx) (22 4+ 1) (x + cos x)?
6z +9
1.3 D (log (32 +92— 7)) = —5———
(1.3) (log (32% + 92 =7)) = 53 g. %

2(x—2)

. 10e 2271
(]_4) D <€2:v+411) — OeiJr
(22 + 1)2

arctgx

€
1. D arctgxr) _
(15)  D(e) =

2. Determinare

1
(2.1) /Coszxda:_tgx—l—c
1
(2.2) /sen(fm) der = —x cos(bz) + ¢

(2.3) dx = log |arcsenz| + ¢

1
/ V1 — x2arcsenz

72



NOME:

1.

2.

ESERCITAZIONE DEL 19 DICEMBRE 2018

Calcolare

COGNOME:

MATRICOLA:

(1.1) D (227 4 42% + 32% — 112?) = 1425 + 2425 + 927 — 222 = z (142° + 242" + 9z — 22)

x + arcsenz) senz + ( ——— + 1) cosz
V1—ga2

12 D (W) _
T + arcsenz

(1.3) D (log (42® — Tz — 6)) =

10 23(112)

2zx+4 z+1

(]_4) D <€3111> — et

(3x +1)2

—senx

1.5 D (v +2) = ———
(1.5) ( o8 ) 2v/cosx + 2

Determinare
5
(2.1) /:1:4d:1::x5+c

1 1

etgac
(2.3) / s—dr = e + ¢
cos?

8r —7
422 — 72 —6

(z + arcsenz)’

73



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (2a° 4 32° — 2 + 22%) = 1225 + 152* — 423 + 622 = 22 (122° + 152? — 4z + 6)

D ( CoS T ) _ (95271“ + 1) cos x + senz (x + arctgx)

(1.2) 2
T + arctgr (x + arctgz)
10z +9
1.3 D (log (522 + 92 — 3)) = ————
(1.3) (log (52% + 92 =3)) = o= 3

2(z—2)

2x—4 106 z+3

1 —2x
1.5 D =
(1.5) (10g2+w2> (log 2 + 22)?
2. Determinare

1
(2.1) /dx:log|x|+c
x

1
= —arcsen(3z) + ¢

(2.3) /exsen (e¥) dx = —cos(e®) + ¢

74



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(11) D (4a° 4 22* — 72% 4 22) = 202" + 82° — 2122 + 2

(1.2) D ( arctgx ) _ afarctgr — x4 arctgz
’ T + arctgr (x24+1) (z + arctgx)2
120 — 4
1.3 D (log (622 — 4z — 1)) = —————
18)  Dlog(os o) = 1L

2(z+2)

2044 2¢ =+3
14) Dlews ="
(1-4) (%) (@ + 3)2

(1.5)

2r — 3 —22% + 62+ 2
D =

2 4+1 (2 +1)2
2. Determinare

(2.1) /cosa:dx = senx + ¢

(2.2) /COS21(7£L') dx = %tg(?x) +c

cos T
2.3 ——dr =1t
(2.3) / T — x = tg(senz) + ¢

75



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32" 4 25 — 5a* — 9z) = 212° 4 62° — 2023 — 9

(1.2) D <arctgac> _ ijﬂ — (e” + 1) arctgr _ e"zfarctgr + x”arctgr — x — e” + e*arctgx + arctgx

x4 e” (z +e®)” (z+e*)” (a2 +1)
14x + 8
1. D (log (722 + 82 — 6)) = — " "°
(1.3) (log (72 + 82 -6)) = = 55—

4z42

4x+2 be =+2
1.4 D 42 | = ———
(1.4) (e i ) (z+2)?

(1 5) D < senr > _ (6396 +I2) cosS T — (363;1: +I2) S

e3? + x? (€3 + 22)°
2. Determinare

(2.1) /senxdz = —cosx+c

2
(2.2) /\/%dwzg\f?x:imjtc

(2.3) / SNz = —log|cosz|+ ¢
cos

76



ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME:

1.

2.

Calcolare

MATRICOLA:

(1.1) D (42° 4 22° + 22% — 62) = 2425 + 10z* 4 62 — 6 = 2 (122° + 5z* + 32 — 3)

xsenx + cosx + 1

(1.2) D57 ) _ _ sen’z + xsenx + cos® x + cosx
: T +senz ) (x 4 senzx)?
16x + 3
1.3 D(log (822 + 32 —17)) = —————
(1.3) (log (802 + 80— 7)) = o=

4z —2

dz—2 10e3=+1
1.4 D(MH):————
(1-4) ¢ (3z+1)2

(1.5) D ((72? + 2°) log(2 + 7)) = (14z + 5z*) log(2 + €®) + (72?4 2°)

Determinare

(2.1) /e”dx—em—i-c

1 log ||
2.2 —dr = ———
(2.2) /596 dx 3 +c

1
(2.3) / COS(:Cng) dx = sen(logx) + ¢
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ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (228 — 42" + 32* —5) = 162" — 2825 + 1227 = 43 (42* — 723 + 3)

(1 2) D( CcosS T ) _ e”senx + xsenx + e* cos x 4 cosx B _($+ef)senx+ (e + 1) cosz
. x_l_ea? (x+ez)2 ($+ex)2
182 + 15
1.3 D (log (922 + 152 — 5)) = ———————
(1.3) (log (922 + 150 — 5)) = 5=
442
dz+2 8629&—1
14 D( 2;:71) - =
(14) ‘ (1 22)?
2
2z(e™ +1)

19 b e 7)) = D

2. Determinare

1

(2.1) / 22 dx = arctgx + ¢
1

(2.2) /cos(8x) dx = gsen(8x) +c

(2.3) /senaz (%) dox = —e“®% 4 ¢
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ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:
1. Calcolare

(11) D (327 —5a® + 42? — 11) = 272® — 402" + 8z = x (2727 — 402° + 8)

(1.2) p(_senx _ (z+logz)cosz — (1 +1)senz 22 cosz — zsens — senz + x log z cosw

' r+logxr) (x + log x)? B z(z + log x)?
2x +4
1.3 D (log (2 + 4z —12)) = 50— ——
(1.3) (log (% + 42 =12)) = 50— 5
dz+2
4z 42 2¢3z+1

14) D (eFH) =

(1.4) c (3x +1)2

(1.5) D (=22 + 222 log ) = 4z logx
2. Determinare

1
(2.1) /dx = arcsenx + ¢
V1—2z?
1
(2.2) /sen(?)x) der = —3 cos(3z) + ¢
(2.3) / (ez)eﬁ dx = arctg(e”) + ¢
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ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (32" 4 22% + 52 4 8) = 2125 + 122° + 5

(1.2) D( senx ) _ —e®senz —senx + e” cosx + xcosx  (z+e”)cosz — (e” 4 1) senx
' x+er (z + e®)? ( + e¥)?
4o — 7
1.3 D (log (22% — 7 9)) = ——7——
13)  Dflog (o)) = T

4042

dw42 10e3=-1
1.4 D ( W) -
(1.4) ¢ (1 —3x)?

arctgz

&
1.5 D arctgzr) _—
(15)  D(em) =y

2. Determinare

1
2.1 dr =1
(2.1) /cos%c T =tgx +c

1 1
2.2 _ = - 4
(2.2) / 5 1622 dx 4arctg( x)+c

(2.3)

dz = log |arcsenz| 4 ¢

1
/ V1 — z2arcsenz
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ESERCITAZIONE DEL 19 DICEMBRE 2018

NOME: COGNOME: MATRICOLA:

1. Calcolare

(1.1) D (4a* 4+ 72 + z — 6) = 1623 + 212% 41

(1.2) D e’ _e"(z +senz — cosw — 1)
’ r+senx ) (z + senx)?
6z — 8
1.3 D(log (322 - 81 —9)) = ————
(1.3) (log (32% =82 =9)) = o555
3::-’1}—4
3z+4 e z+1
1.4 D< x+1 ) = —
(1.4) . (x+1)2
—senx
1.5 D (v +2) = —
(1.8) ( oS ) 2¢/cosx + 2

2. Determinare

5
(2.1) /:E4da::x5+c

1
= —arcsen(bz) + ¢

1
(2.2) /ﬁ —— dx 5

etgm
(2.3) / s—dr = e +¢
cos?
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